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le; @ Time : 60 fefuV@ 60 Minutes                                                                iw.kkZad @ Maximum Marks : 100  
vuqØekad @ Roll No. : 

iqfLrdk esa i`"Bksa dh la[;k :     12                                                 No. of Pages in Booklet  :     12 

iqfLrdk esa cgqoSdfYid oLrqfu"B iz’uksa dh la[;k : 50               No. of Multiple Choice Objective Questions in Booklet : 50 
 

 funsZ’kfunsZ’kfunsZ’kfunsZ’k     INSTRUCTIONS 

1- lHkh iz’uksa ds mÙkj nhft,A 1. Answer all the questions. 

2- izR;sd iz’u nks vad dk gSA 2. Every question is of two marks. 

3- Xyr mÙkjksa ds fy, vad dkVs ugha tk,axsA 3. There are no negative marks for incorrect answers. 

4- ijh{kk izkjaHk gksus ij iz’u&iqfLrdk vkidks ns nh tk,xhA igys 
ikap feuV vkidks iz’u&iqfLrdk [kksyus rFkk mldh fuEufyf[kr 
tkap ds fy, fn, tk,axs ftldh tkap vkidks vo’; djuh gS & 
doj i"̀B ij Nis funsZ’kkuqlkj iz’u&iqfLrdk ds i"̀B rFkk iz’uksa 
dh la[;k dks vPNh rjg ls tk¡p ys fd ;s iwjs gSaA nks"kiw.kZ 
iqfLrdk ftuesa i"̀B@iz’u de gksa ;k nqckjk vk x, gksa ;k Øe 
esa u gksa vFkkZr~ fdlh Hkh izdkj dh =qfViw.kZ iqfLrdk Lohdkj u 
djsa rFkk mlh le; mls ykSVk dj mlds LFkku ij nwljh lgh 
iz’u&iqfLrdk ys ysaA blds fy, vkidks iakp feuV fn;s tk,axs] 
blds ckn u rks vkidh iz’u&iqfLrdk okil yh tk,xh vkSj u 
gh vkidks vfrfjDr le; fn;k tk,xkA 

4. At the commencement of examination, the Question 
Booklet will be given to you. In the first five minutes, you 
are requested to open the Booklet an compulsorily examine 
it as below: 
Tally the number of pages and number of questions in the 
Booklet with the information printed on the cover page. 
Faulty Booklets due to pages/questions missing or 
duplicate or not in serial order or any other discrepancy 
should be got replaced immediately by a correct Booklet 
from the invigilator within the period of five minutes. 
Afterwards, neither the Question Booklet will be replaced 
nor any extra time will be given. 

5- izR;sd iz’u dk dsoy ,d gh mÙkj iF̀kd ls nh x;h vks- ,e- 
vkj- esa fy[ksaA 

5. Give one answer of each question in a separately provided 
OMR answer sheet. 

6- dPpk dk;Z bl iqfLrdk ds Nis gq, i"̀Bksa ds ihNs dj ldrs  
gSaA 

6. Rough work is to be done on the back of printed        
papers. 

7- izR;sd iz’u ds pkj oSdfYid mÙkj fn;s x;s gSa ftUgsa vaxzsth esa 
Øe’k% A, B, C, D, fy[kk x;k gS vkSj fgUnh esa Øe’k% v]v]v]v]    c]c]c]c]    l]l]l]l]    
nnnn fy[kk x;k gSA vH;kFkhZ dks iz’u dk lgh mÙkj] mÙkj i=d esa 
izR;sd iz’ukad ds lkeus fn;s x;s ckWDl esa fy[kuk gSA dsoy dsoy dsoy dsoy 
uhys@dkys cky Iokb.V iSu dk gh bLrseky djsaAuhys@dkys cky Iokb.V iSu dk gh bLrseky djsaAuhys@dkys cky Iokb.V iSu dk gh bLrseky djsaAuhys@dkys cky Iokb.V iSu dk gh bLrseky djsaA 

7. There are four optional answer of each question which 
have written A, B, C, D in English and v]v]v]v]    c]c]c]c]    l]l]l]l]    nnnn in Hindi 
respectively. Candidate is required to darken the correct 
options of the answers of each question in the box given 
against each question No. on the answer sheet. Use only 
blue/black ball point pen. 

8- vki mÙkjiqfLrdk ij fu;r LFkku ds vykok viuk jksy uacj] 
Qksu uacj ;k dksbZ Hkh ,slk fpUg] ftlls vkidh igpku gks lds] 
vafdr djrs gSa vFkok vHknz Hkk"kk dk iz;ksx djrs gSa rks ijh{kk ds 
fy, v;ksX; ?kksf"kr fd;s tk ldrs gSaA 
udy lkexzh ykuk] mi;ksx djuk] vU; ijh{kkFkhZ ls ijh{kk ds 
nkSjku ckr djuk oftZr gSA eksckby Qksu vFkok bysDVªksfud ;a= 
dk ijh{kk gkWy esa iz;ksx oftZr gSA ;fn fdlh ijh{kkFkhZ ds ikl 
dksbZ Hkh oftZr lkexzh vFkok dksbZ f’kdk;r feyrh gS rks mlds 
fo:) fu;ekuqlkj dk;Zokgh dh tk,xhA 

8. If you write your Roll No. or put any mark on any part of 
the Answer Sheet, except for the space allotted for the 
relevant entries, which may disclosed your indentity or use 
abusive language, you will render yourself liable to 
disqualification. Carrying or use of copying material, 
talking with another candidate during examination is 
prohibited. Mobile phone or any electronic equipment is 
prohibited in the examination hall. If any of the prohibited 
material or any complaint is received against any 
candidate, necessary action as per rules will be taken 
against such candidate. 

9- ;fn dksbZ vH;kFkhZ udy djrs idM+k tkrk gS ;k mlds ikl 
dksbZ vukf/kdr̀@oftZr lkexzh ikbZ tkrh gS rks mlds fo:) 
iqfyl esa izkFkfedh ntZ djkbZ tk,xh vkSj vuqfpr lk/kuksa dh 
jksdFkke vf/kfu;e 1992 ds fu;e 3 ds varxZr dk;Zokgh dh 
tk,xhA lkFk gh ,sls vH;kFkhZ dks Hkfo"; esa gksus okyh leLr 
ijh{kkvksa ls oftZr Hkh fd;k tk ldrk gSA 

9. In case any of the candidate is found to copying or any 
unauthorised/prohibited material is found form his/her, an 
FIR shall be lodged in the Police against that candidate 
and action will be taken under Rule 3 of the Prevention of 
Unfair means Act, 1992. Such applicant can be prohibited 
from appearing in all examination in future. 

10- fdlh Hkh izdkj dh rF;kRed vFkok eqnz.k =qfV dh fLFkfr esa 
vaxszth :ikUrj dks ekuk tk,xkA 

10. The English version will be treated as standard in case of 
any ambiguity or printing mistake. 

   

ijh{kkFkhZ ds gLrk{kj@ Signature of the Candidate 

 izekf.kr fd;k tkrk gS fd ijh{kkFkhZ dk lR;kiu vkosnu i= esa 
yxs mlds fp= ,oa mlds gLrk{kjksa ds feyku ds lkFk dj fy;k 
x;k vkSj ;g ijh{kkFkhZ ogh gS ftlus vkosnu fd;k gSA 

 It is certify that the verification of the candidate has been 
done as per the photographs pasted and also signatures 
given on the application form. It is stated that he/she is the 
same candidate who has applied. 

   

ijhoh{kd ds gLrk{kj@ Signature of the Invigilator  
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1. As per which convection of Accounting, the practice of “window dressing and Creating 

secret reserves” is not permitted in accounting - 

 (A) Convention of disclosure    (B) Convention of materiality    

 (C) Convention of consistency   (D) Convention of conservation  
 ys[kkadu dh fdl ijEijk ds vuqlkj ^^f[kM+dh ltkoV ,oa xqIr lap;^^ cukus dh uhfr ekU; ugha 

gSa &   
 ¼v½ izdjhdj.k dh ijEijk     ¼c½ egÙkk dh ijEijk   
 ¼l½ ,d:irk dh ijEijk     ¼n½ :f<+okfnrk dh ijEijk  
2. On the basis of which accounting concept or convention closing stock is credited to 

trading account -   

 (A) Going concern concept    (B) Cost concept    

 (C) Convention of consistency   (D) Matching concept 
 fdl ys[kkadu vo/kkj.kk vFkok ijEijk ds vk/kkj ij vfUre LVkWd dks O;kikj [kkrs esa ØsfMV 

fd;k tkrk gS &   
 ¼v½ pkyw O;olk; vo/kkj.kk    ¼c½ ykxr vo/kkj.kk  
 ¼l½ laxrrk dh ijEijk    ¼n½ feyku vo/kkj.kk  
3. Owner’s claim in assets of business is -  

 (A) Primary       (B) Causal    

 (C) Maximum      (D) Residual and final  
 O;olk; dh lEifÙk;ksa esa Lokeh dk nkok gksrk gS &   
 ¼v½ izkFkfed      ¼c½ vkdfLed  
 ¼l½ vf/kdre       ¼n½ cpk gqvk ,oa vfUre   
4. Plant and machinery which stood in books at `7500 includes a machine at a book value of 

`1700. This being obsolete and was sold off at `450 and replaced by a new machine 

which cost `2400. Then capital expenditure is -   

 (A) 1250       (B) 2400   

 (C) 450       (D) 1950 
 iqLrdksa esa la;a= ,oa e’khujh `7500  esa ,d `1700  iqLrd ewY; dh e’khujh 'kkfey gSA ;g 

vizpfyr gks xbZ vkSj `450 esa csp nh xbZ rFkk `2400 dh xbZ e’khu ls izfrLFkkfir dh xbZA 
rc iwathxr [kpZ gS &    

 ¼v½ 1250       ¼c½ 2400 
 ¼l½ 450       ¼n½ 1950 
5. Goods given as samples should be credited to -  

 (A) Advertisement Account    (B) Sales Account    

 (C) Purchases Account     (D) Trading Account  

 uewus ds :i esa fn;s x;s eky dks tek fd;k tkuk pkfg, &  
 ¼v½ foKkiu [kkrs esa      ¼c½ foØ; [kkrs esa  
 ¼l½ Ø; [kkrs esa      ¼n½ O;kikj [kkrs esa  
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6. Upon dissolution a liability taken over by a partner is to be credited to -  

 (A) Profit & loss A/c    (B) Partner’s capital A/c   

 (C) Realization A/c     (D) Deficiency A/c 

 fo?kVu ij ,d lk>snkj }kjk fy, x;s nkf;Ro dks tek fd;k tkrk gS &   

 ¼v½ ykHk&gkfu [kkrs esa     ¼c½ lk>snkj ds iwath [kkrs esa  

 ¼l½ olwyh [kkrs esa     ¼n½ U;wurk [kkrs esa  

7. A and B are partners in a firm sharing in 5:3. They admit C with ¼ share in profit which 

he acquire ¾ from A and ¼ B. He Pays `4000 for his share of goodwill. A and B will be 

created by -   

 (A) 2500 and 1500 respectively  (B) 3000 and 1000 respectively    

 (C) 2000 each       (D) 1000 and 3000 respectively  
 v ,oa c ,d QeZ esa 5%3 ds vuqikr esa lk>snkj gSaA os l dks ykHk esa fgLls ds fy, izos’k nsrs gS 

tks fd og v ls 3@4 ,oa c ls 1@4 ysrk gSaA og vius fgLls dh [;kfr ds fy, `4000  nsrk 
gSA v ,oa c dks tek fd;k tk;sxk &  

 ¼v½ Øe’k% 2500 ,oa 1500 ls    ¼c½ Øe’k% 3000 ,oa 1000 ls   
 ¼l½ izR;sd dks 2000 ls     ¼n½ Øe’k% 1000 ,oa 3000 ls  
8. Amar and Akbar are equal partners, on the date of dissolution of firm their capitals were 

60,000 and 80,000 respectively. After sale of assets and payment of liabilities cash 

balance was 1,12,000. Profit on loss on realisation will be - 

 (A) Profit 28,000     (B) Profit 40,000   

 (C) Profit 60,000     (D) Loss 28,000 
 vej ,oa vdcj cjkcj ds lk>snkj gSaA QeZ ds fo?kVu dh frfFk dks mudh iwath Øe’k% 60]000 

,oa 80]000 ` FkhA lEifÙk;ksa dks cspus rFkk nkf;Roksa dk Hkqxrku djus ds i'pkr~ 1]12]000 ` dk 
udn 'ks"k FkkA olwyh ij gksus okyh ykHk ;k gkfu dh jkf’k gksxh &     

 ¼v½ ykHk 28]000     ¼c½ ykHk 40]000 
 ¼l½ ykHk 60]000     ¼n½ gkfu 28]000 
9. It is share of `10, on which `6 has been paid, is forfeited, it can be re-issued at a 

minimum price of: 

 (A) `6 per share      (B) `4 per share    

 (C) `10 per share      (D) None of these  
 ;fn ,d 10 ` ds va’k] ftl ij 6 ` pqdrk gS] dks tCr fd;k tkrk gS] rks bls U;wure fdl 

ewY; ij iqu% fuxZfer fd;k tk ldrk gS &  
 ¼v½ `6  izfr va’k      ¼c½ `4 izfr va’k  
 ¼l½ `10  izfr va’k     ¼n½ buesa ls dksbZ ugha  
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10. Loss suffered from the date of acquisition of business to the date of incorporation should 

be debited to - 

 (A) Profit & Loss a/c    (B) Goodwill a/c   

 (C) Capital reserve a/c    (D) Preliminary expenses a/c  

 O;olk; Øe dh frfFk ls lekesyu dh frfFk rd dh gkfu dks MsfcV fd;k tkuk pkfg, &  

 ¼v½ ykHk & gkfu [kkrs dks     ¼c½ [;kfr [kkrs dks  

 ¼l½ iwath lap; [kkrs dks     ¼n½ izkjfEHkd [kpZ [kkrs dks  

11. The salary of 4 clerks for a period of 6 months before the relevant date of liquidation was 

in arrears. If the salary of each clerk is `1200 p.m. the amount to be included in 

preferential creditors will be -  

 (A) 28,800      (B) 19,200   

 (C) 4,000      (D) 7,200 
 lekiu dh lEcfU/kr frfFk ls iwoZ dk pkj DydZ dk N% ekg dk osru cdk;k FkkA ;fn izR;sd 

DydZ dk osru izfrekg 1200` gS rks iwokZf/kdkj ysunkjksa esa lfEefyr jkf’k gksxh &  
 ¼v½ 28]800      ¼c½ 19]200 
 ¼l½ 4]000       ¼n½ 7]200 
12. Mr. C’s trail balance contains the following information: Bad debts 4,000, provision for 

doubtful debts 5,000; Sundry debtors 25,000. It is desired to create a provision for bad 

debts at 10% on sundry debtors. Sundry debtors will appear in the balance sheet at a net 

figure of - 

 (A) 22,500      (B) 21,000   

 (C) 18,000      (D) 15,500 
 fe-lh- ds ryiV esa fuEu lwpuk,a gS% Mwcr _.k 4]000] lafnX/k _.k izko/kku 5]000] fofo/k nsunkj 

25]000] fofo/k nsunkjks ij 10% Mwcr _.k izko/kku cukuk gSA fofo/k nsunkjksa dh 'kq) jkf’k 
fpV~Bs esa n’kkZb tk;sxh  & 

 ¼v½ 22]500      ¼c½ 21]000 
 ¼l½ 18]000      ¼n½ 15]500 
13. Accumulated profits include- 

 (A) Provision for doubtful debts   (B) Insurance Fund    

 (C) Employee’s provident fund   (D) None of these  

 lap;h ykHkksa esa lfEefyr gSa &  

 ¼v½ lafnX/k _.k ds fy, vk;kstu   ¼c½ chek dks"k  

 ¼l½ deZpkjh Hkfo"; fuf/k dks"k    ¼n½ buesa ls dksbZ ugha  
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14. Cost of control account is credited with -  

 (A) Revenue profit’s     (B) Capital profit’s    

 (C) Revenue losses      (D) None of these  
 fu;U=.k dh ykxr [kkrs dks tek fd;k tkrk gS &   
 ¼v½ vk;xr ykHkksa ls      ¼c½ iwathxr ykHkksa ls  
 ¼l½ vk;xr gkfu;ksa ls    ¼n½ buesa ls dksbZ ugha  
15. XYZ ltd. increases its share capital by issuing 3 new equity shares of `10 each for `25 

for every 5 shares held. Market price of existing share is `29 (cum right). Value of right 

would be -    

 (A) `2.50      (B) `3.50   

 (C) `1.50      (D) `4.50 
 XYZ fy- viuh va’k iwath esa o`f) djus ds fy, 5 lerk va’kksa ds cnys muesa va’k ¼ `10 okys½  

`25 izfr va’k dh nj ls fuxZfer djrh gSA fo|eku lerk va’kks dk cktkj ewY; `29 ¼vf/kdkj 
lfgr½ izfr va’k gS] rks vf/kdkj dk ewY; gksxk &    

 ¼v½ `2-50      ¼c½ `3-50 
 ¼l½ `1-50      ¼n½ `4-50 
16. Market capitalisation rate is 18% and dividend per share is `2.40 for a share of `100, 

value per share would be -  

 (A) 15       (B) 15.33   

 (C) 13.33      (D) 16.33 
 cktkj iwathdj.k nj 18% gS rFkk 100` ds vafdr ewY; ds va’k ij ykHkka’k `2-40 gS] va’k dk 

ewY; gksxk &   
 ¼v½ 15       ¼c½ 15-33 
 ¼l½ 13-33       ¼n½ 16-33 
17. When Amalgamation is in nature of merger, the accounting method to be followed is -  

 (A) Equity method      (B) Purchase method   

 (C) Pooling of interest method    (D) Consolidated method  
 tc ,dhdj.k foy; ds LoHkko dk gS] rks viukeh tkus okyh ys[kk fof/k gksrh gS &  
 ¼v½ lerk fof/k      ¼c½ Ø; fof/k  
 ¼l½ fgrks ds ,d=hdj.k dh fof/k   ¼n½ lesfdr fof/k  
18. Debenture holders having a floating charge have priority in payment over -  

 (A) Preferential creditors     (B) Secured creditors    

 (C) Unsecured creditors     (D) On all of these  
 py izdkj okys _.ki=/kkfj;ksa dks Hkqxrku esa izkFkfedrk gksrh gS & 
 ¼v½ iwokZf/kdkj ysunkjkas ij     ¼c½ lqjf{kr ysunkjkas ij  
 ¼l½ vlqjf{kr ysunkjksa ij     ¼n½ bu lHkh ij  
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19. Profit mode of a firm will result in equal increase of - 

 (A) Gross current assets    (B) Net Current assets    

 (C) Net working capital     (D) Net worth of the firm  
 QeZ ds ykHk ls leku o`f) gksxh &  
 ¼v½ ldy ykHk lEifÙk;ksa esa    ¼c½ 'kq) pkyw lEifÙk;ksa esa  
 ¼l½ 'kq) pkyw iqath esa     ¼n½ QeZ dh 'kq) lEink esa 
20. Which of the following of ratio is known as primary ratio?  

 (A) 100
sales

profits operatingNet 
×   (B) 100

 assets Fixed

 Sales
×    

 (C) 100
 capital Working

SalesNet 
×    (D) 100

 employed CapitalNet 

profits operatingNet 
×  

 fuEu esa ls dkSu lk vuqikr izkFkfed vuqikr dgykrk gS &   

 ¼v½        ¼c½  

 

  ¼l½        ¼n½  

21. Net profit after depreciation of `10,000 and transfer to reserves `20,000 is `1,20,000. 

The addition to stock during the period was `20,000. Cash from operation is -  

 (A) 1,30,000      (B) 1,70,000   

 (C) 1,50,000      (D) 1,00,000 
 ewY; âkl `10]000 rFkk lap; esa gLrkUrj.k `20]000 ds ckn 'kq) ykHk `1]20]000 gaSA vof/k ds 

nkSjku LVkWd esa `20]000 dh o`f) dh xbZA ifjpkyu ls udn gS &  
 ¼v½ 1]30]000      ¼c½ 1]70]000 
 ¼l½ 1]50]000      ¼n½ 1]00]000 
22. Which costing method is currently very widely used for internal reporting? 

 (A) Absorption costing     (B) Full costing    

 (C) Variable costing     (D) Standard costing  
 vkUrfjd izfrosnu ds fy, orZeku esa fdl ykxr fof/k dks T;knk mi;ksx esa fy;k tkrk gS &   
 ¼v½ vo’kks"k.k ykxr fof/k     ¼c½ iw.kZ ykxr fof/k  
 ¼l½ ifjorZu 'khy ykxr fof/k    ¼n½ izeki ykxr fof/k 
23. If sales and fixed costs remain unchanged, contribution will remain unchanged only    

when - 

 (A) Margin of safety increases    (B) Fixed cost increases    

 (C) Total variable cost remain constant  (D) None of the above  
 ;fn foØ; ,oa LFkk;h ykxr vifjofrZr jgrh gS rc va’knku vifjofrZr jgsxk dsoy tc &  
 ¼v½ lqj{kk lhek c<+rh gS    ¼c½ LFkk;h ykxrs c<+rh gS 
 ¼l½ dqy ifjorZu’khy ykxrs fLFkj jgrh gS  ¼n½ mi;qZDr esa ls dksbZ ugha  

kq
100×

foØ;

 ykHk) ifjpkyd '
100×

    foØ;  
lEifÙk;kaLFkk;h

kq
100×

) foØ;   '
Z khy iwath'dk; iwath

kq
100×

 ykHk) ifjpkyd '

' )kq fofu;ksx

https://exams.freshersnow.com/category/entrance-exam-question-papers/
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24. Standard costing will produce the same results as conventional costing when standard cost 

variances are allocated to -   

 (A) Cost of goods sold     (B) Cost of goods sold and inventories    

 (C) A balance sheet account    (D)  A revenue or expense account  
 izeki ykxr ys[kkadu ogh ifj.kke nsxk tks ijEijkxr ykxr ys[kkadu esa gksrs gS tc izeki 

ykxr fopj.kkaas dks ckaVk tkrk gS &  
 ¼v½ csps x;s eky dh ykxr esa    ¼c½ csps x;s eky dh ykxr ,oa jgfr;s esa  
 ¼l½ fpV~Bk [kkrs esa      ¼n½ vk; vFkok O;; [kkrs esa  
25. Zero base Budgeting was first propounded by -   

 (A) Prof. Nile       (B) Peter ‘A’ Pyhrr  

 (C) Karter       (D) Gordon and Shillinglaw  
 'kwU; vk/kkj ctV ds }kjk izFke vorfjr fd;k x;k &   
 ¼v½ izks- ukby       ¼c½ ihVj ^v^ Qkgj  
 ¼l½ dkVZj       ¼n½ xksjMZu ,oa f’kfyaxykW  
26. The fixed and variable cost classification has a special significance in the preparation of - 

 (A) Capital Budget      (B) Cash Budget    

 (C) Master Budget     (D) Flexible Budget  
 fLFkj ,oa ifjorZu’khy ykxr oxhZdj.k dk fo’ks"k egRo gS ............. dks cukus esa &  
 ¼v½ iwath ctV      ¼c½ udn ctV  
 ¼l½ ekLVj ctV      ¼n½ yksp’khy ctV  
27. A company has PVR of 40%. By what percentage sales be increased to offset 20% 

reduction in selling price -  

 (A) 80%       (B) 100%   

 (C) 200%      (D) 400% 
 ,d dEiuh dk ykHk&fcØh vuqikr 40% gSA foØ; ewY; esa 20% deh dks vkWQlsV djus ds fy, 

foØ; esa fdrus izfr’kr o`f) djuh gksxh &   
 ¼v½ 80%       ¼c½ 100% 
 ¼l½ 200%       ¼n½ 400% 
28. Managers who are concerned not only with cost management but also with revenue 

generation are in a responsibility level called -  

 (A) Cost centre      (B) Budget centre    

 (C) Investment      (D) Profit centre  
 izcU/kd tks dsoy ykxr izcU/k ls gh ugha ijUrq vk; mn~xe ls Hkh lEcfU/kr gksrs gS] mudk 

mÙkjnkf;Ro Lrj dgykrk gS &  
 ¼v½ ykxr dsUnz      ¼c½ ctV dsUnz  
 ¼l½ fofu;ksx dsUnz     ¼n½ ykHk dsUnz 
 

https://exams.freshersnow.com/category/entrance-exam-question-papers/
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29. The return on Investment may be improved by -   

 (A) increasing sales     (B) reducing expenses    

 (C) increasing amount of capital utilised  (D) all of the above  
 fofu;ksx ij izR;k; dks lq/kkjk tk ldrk gS &  
 ¼v½ foØ; o`f) ls      ¼c½ [kpZ de djds  
 ¼l½ mi;ksx dh xbZ iwath jkf’k esa o`f) ls  ¼n½ mi;qZDr lHkh ls  
30. Which of the following will result in flow of funds? 

 (A) Purchase of furniture on credit   (B) Writing off goodwill    

 (C) Depreciation of assets    (D) Appreciation in Building  
 fuEu esa ls fdlds }kjk dks"k dk izokg gksxk\  
 ¼v½ QuhZpj dk m/kkj Ø;     ¼c½ [;kfr dk viys[ku  
 ¼l½ lEifÙk;ksa dk ewY; âkl    ¼n½ Hkou esa ewY; o`f) 
31. Under section 52 of companies Act 2013for which purpose securities premium amount 

cannot be used -  

 (A) For redemption of preference shares 

 (B) For issue of fully paid up bonus shares    

 (C) For Buy Back of Shares 

 (D) For premium payable on redemption of shares  
 dEiuh vf/kfu;e 2013 dh /kkjk 52 ds vuqlkj fdl mÌs’; ds fy, izfrHkwfr izhfe;e dh jkf’k 

mi;ksx esa ugha yh tk ldrh gS &   
 ¼v½ iwokZf/kdkj va’kks ds 'kks/ku ds fy,   ¼c½ iw.kZnÙk cksul va’k tkjh djus ds fy,  
 ¼l½ va’kksa dk iqu% Øe djus ds fy,   ¼n½ va’kks ds 'kks/ku ij izhfe;e Hkqxrku ds fy, 
32. A critical assumption of the net operating income (NOI) approach to valuation is -   

 (A) That debt and equity levels remain unchanged  

 (B) That dividend increase at constant rate    

 (C) That k0 remains constant regardless of changes in leverage  

 (D) That interest expenses and taxes are included in the calculation  
 ewY;kadu dh 'kq) ifjpkyu vk; (NOI) ifjdYiuk dh ewy ekU;rk gS fd &   
 ¼v½ _.k ,oa lerk Lrj vifjofrZr jgrs gS 
 ¼c½ ykHkka’k fLFkj nj ls c<+rk gS  
 ¼l½ mrksyd esa ifjorZu ds ckn Hkh k0 fLFkj jgrh gS      
 ¼n½ x.kuk esa C;kt [kpZ ,oa dj lfEefyr gS 
33. When fixed costs is nil, size of degree of operating leverage will be? 

 (A) More than one      (B) Negative    

 (C) Zero        (D) one  
 tc LFkk;h ykxr 'kwU; gS] ifjpkyu yhojst dh fMxzh gksxh &  
 ¼v½ ,d ls vf/kd      ¼c½ udkjkRed  
 ¼l½ 'kwU;        ¼n½ ,d  
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34. Mistress ltd. has taken a loan of `10 lakhs at an Interest rate of 15% p.a. It tax rate 

applicable to the company is 40%, the cost of term loan is -  

 (A) 5%       (B) 7.5%   

 (C) 9.9%       (D) 9% 
 feLVªsl fy- us 10 yk[k dk _.k 15% okf"kZd C;kt nj ij fy;kA ;fn dEiuh ds fy, 40% dj 

dh nj ykxw gksrh gS] rc _.k dh ykxr gS &   
 ¼v½ 5%       ¼c½ 7-5% 
 ¼l½ 9-9%       ¼n½ 9% 
35. Internal rate of return represent the situation -  

 (A) When NPV is zero  

 (B) When NPV is negative    

 (C) When NPV is positive  

 (D) When PV is more than initial investment   
 vkUrfjd izR;k; nj ml fLFkfr dks n’kkZrh gS &   
 ¼v½ tc 'kq) orZeki ewY; 'kwU; gks    
 ¼c½ tc 'kq) orZeku ewY; udkjkRed gks  
 ¼l½ tc 'kq) orZeku ewY; /kukRed gks   
 ¼n½ tc orZeku ewY; izkjfEHkd fofu;ksx ls vf/kd gks  
36. The Annual sales of a firm is `3,00,000 with G.P. Ratio of 33.33%. The company keeps 

stock equal to 3 months production. The average investment in stock would be -   

 (A) 80000      (B) 70000   

 (C) 60000      (D) 50000 
 ,d QeZ dh okf"kZd fcØh `3,00,000 rFkk ldy ykHk vuqikr 33-33% gSA ;fn dEiuh 3 ekg ds 

mRiknu ds cjkcj LVkWd j[krh gS rc LVkWd esa vkSlr fofu;ksx gksxk &   
 ¼v½ 80]000      ¼c½ 70]000 
 ¼l½ 60]000      ¼n½ 50]000 
37. The most unstable measure of central tendency is - 

 (A) Mean       (B) Median    

 (C) Mode       (D) None of these  
 dsUnzh; izo`fÙk dk izeq[k vfLFkj eki gS & 
 ¼v½ ek/;       ¼c½ ek/;dk  
 ¼l½ cgqyd       ¼n½ buesa ls dksbZ ugha 
38. The coefficient of correlation - 

 (A) has no limit     (B) is less than 1   

 (C) is more than - 1     (D) none of these  
 lglacU/k xq.kkad &  
 ¼v½ dksbZ lhek ugha gksrh gS    ¼c½ ,d ls de gksrk gS  
 ¼l½ ¼&½,d ls vf/kd gksrk gS   ¼n½ buesa ls dksbZ ugha  
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39. The standard normal distribution - 

 (A) has a mean equal to 1    (B) has a mean equal to zero    

 (C) has a mean less than zero   (D) has a mean equal to 5 
 izeki lkekU; caVu esa &  

 ¼v½ ek/; ,d ds cjkcj gksrk gS    ¼c½ ek/; 'kwU; ds cjkcj gksrk gS 

 ¼l½ ek/; 'kwU; ls de gksrk gS   ¼n½ ek/; ikap ds cjkcj gksrk gS 

40. Primary data is preferred over secondary data where - 

 (A) Accuracy is important    (B) Short time is available    

 (C) Insufficient finance is available   (D) Much accuracy is not required 
 f}rh;d leadks dh rqyuk esaa izkFkfed leadks dk iz;ksx fd;k tkrk gS tc &  

 ¼v½ 'kq)rk egRoiw.kZ gks     ¼c½ le; de miyC/k gks  

 ¼l½ vi;kZIr foRr miyC/k gks    ¼n½ vf/kd 'kq)rk dh vko’;drk u gks  

41. In equation y = a + bx, value of b = 
2

 

x

xy

Σ

Σ
when -  

 (A) Σx = 0      (B) Σy = 0   

 (C) Σy = 1      (D) Σx = 1 

 lehdj.k y = a + bx esa b = 
2

 

x

xy

Σ

Σ  gksrk gS tc &   

 ¼v½ Σx = 0      ¼c½ Σy = 0 
 ¼l½ Σy = 1      ¼n½ Σx = 1 

 
42. In linear regression equation y = a + bx , the slope of line is -  

 (A) b       (B) a   

 (C) y       (D) x 
 js[kh; izrhixeu lehdj.k y = a + bx esa js[kk dk <yku gS &   
 ¼v½ b       ¼c½ a 
 ¼l½ y       ¼n½ x 
43. What will be price of share if payout ratio is 80% as per Walter model [assume EPS = 

`10, cost of equity 10% and return on investment =12%] -  

 (A) 96       (B) 104   

 (C) 100       (D) 124 
 okYVj ekWMy ds vuqlkj va’k dk ewY; D;k gksxk ;fn pqdrk vuqikr 80% gS % ¼ekfu;s EPS = 

10 `] lerk dh ykxr 10% rFkk fofu;ksx ij izR;{k 12%½ &   
 ¼v½ 96       ¼c½ 104 
 ¼l½ 100       ¼n½ 124 
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44. An increase in variable costs -  

 (A) reduces the contribution    (B) increase P/V ratio    

 (C) increases the margin of safety   (D) none of these  
 ifjorZu’khy ykxrksa es o`f) &  
 ¼v½ va’knku dks ?kVkrh gS     ¼c½ ih-oh- vuqikr dks c<k+rh gS 
 ¼l½ lqj{kk lhek dks c<+krh gS   ¼n½ buesa ls dksbZ ugha 
45. Dividend received from pre-acquisition profits of subsidiary company should be credited 

by holding company in its books to -  

 (A) General reserve     (B) Capital reserve    

 (C) P&L a/c      (D) Goodwill a/c  
 lgk;d dEiuh ds vf/kxzg.k ls iwoZ ds ykHk esa ls izkIr ykHkka’k dks lw=/kkjh dEiuh dh iqLrdksa esa 

tek fd;k tkuk pkfg, &  
 ¼v½ lkekU; lap; esa      ¼c½ iwathxr lap; esa  
 ¼l½ ykHk & gkfu [kkrs esa     ¼n½ [;kfr [kkrs esa  
46. The share capital to the extent already held by the purchasing company is closed by the 

vender company by crediting it to -   

 (A) Investments a/c      (B) Purchasing company’s a/c    

 (C) Share capital a/c     (D) Realisation a/c  
 Øsrk dEiuh }kjk igys ls vf/kxzfgr va’k iwath dks foØsrk dEiuh }kjk esa tek dj cUn fd;k 

tkrk gS &  
 ¼v½ fofu;ksx [kkrs esa      ¼c½ Øsrk dEiuh [kkrs esa  
 ¼l½ va’k iwath [kkrs esa     ¼n½ olwyh [kkrs esa  
47. On forfeiture of shares on default in payment of allotment and call money, share capital 

account should be debited with -   

 (A) Face value of shares     (B) Paid up amount on shares   

 (C) Called up amount on shares   (D) None of these  
 vkcaVu ,oa ekax jkf’k ds pqd djus ij] va’kksa dks tCr djus ij va’k iwath [kkrs dks uke djuk 

pkfg, &   
 ¼v½ va’kksa ds vafdr ewY; ls    ¼c½ va’kksa ds pqdrk ewY; ls  
 ¼l½ va’kksa ij ekaxh xbZ jkf’k ls    ¼n½ buesa ls dksbZ ugha  
48. Higher the ratio, the more favourable it is. This does not apply to -  

 (A) Operating ratio      (B) Operating profit ratio    

 (C) Stock turnover ratio     (D) Return on Investment   
 vf/kd vuqikr] T;knk vuqdqy ;g gaSA ;g ykxw ugha gksrk gS &  
 ¼v½ ifjpkyu vuqikr ij     ¼c½ ifjpkyu ykHk vuqikr ij  
 ¼l½ LVkWd VuZvkWoj vuqikr ij    ¼n½ fofu;ksx ds izR;{k ij  
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49. In Indirect method to determine cash flow from operating activities adjustments are 

usually made in -  

 (A) Gross profit      (B) Net profit    

 (C) Sales       (D) Cost of goods sold  

 ifjpkyu xfrfof/k;ksa ls udn izokg] vizR;{k fof/k esa fu/kkZfjr djus ds fy,] izk;% lek;kstu 

fd, tkrs gS &   

 ¼v½ ldy ykHk esa      ¼c½ 'kq) ykHk esa  

 ¼l½ foØ; esa       ¼n½ csps x;s eky dh ykxr esa  

50. Revenue is generally recognised at the point of sale. Which principle is applied here -   

 (A) Consistency     (B) Matching principle    

 (C) Revenue recognition     (D) Cost principle  

 vk; izk;% foØ; ds fcUnq ij ekuh tkrh gSA blesa dkSu lk fl)kUr ykxw gksrk gSa\ 

 ¼v½ laxrrk@,d:irk     ¼c½ feyku fl)kUr  

 ¼l½ vk; ekU;rk      ¼n½ ykxr fl)kUr  

 


